asym_sam?2

asym_sam4

asym_samb6

asym_sam3

" m
- —50c
10000 |
5000 —
B —400
o
C 300
5000 |
10000
- - 200
15000 |
n n
- 100
20000
- m
EEI::"::":I—I'III|III|III|III|III|III|III|III|III D
60 -40 -20 O 20 40 &0 B8O 100 120
diff_bpmXum
- —
15000 |-
10000 F —[0t
5000
- —lanc
0
-5000 [~ 3oL
10000
- - 200
15000 - =
20000
- 100
25000 |
- [ |
B_DDDD_|III|III|III|III|III|III|III|III|III D
B0 -40 -20 O 20 40 &0 8O 100 120
difi _bpm1Xum
diff_ bpmlX
BOOD
i n —30¢
BOO0
[ m | o5
4000
[ |
[ —200
2000
i 150
ﬂ __
- 100
-2000 - m
. 500
-4000
I I T T RN NN IR o
60 -40 -20 O 20 40 &0 B8O 100 120
diff_bpm1Xum
d'
2000 - ™ —10
1000
- —a0t
of
60
1000 |-
2000 40(
B [
B (]
-3000
- 200
—4000 | =
| 1 11 | 1 11 | 111 | 1 11 111 | 1 11 | 111 | 111 I 111

run6915 000 regression-asym sam

diff_bpmdeY

- - —20( - : . : x —18¢
10000 - . 10000 - enr 10000 - . 10000 - e
N n n —{16( N
5000 —{1&( 5000 5000 5000 —qar
- » - —400 - =14 -
II]:— II]:— ID:— 4o 'I:F:— ] —{12(
~5000 F ~5000 b 300 ~5000 = ~5000
N N n T m
10000 10000 [ 10000 [ 10000 -
- N m 200 C m . m
15000 15000 | 15000 15000
: N - _ - | - u 400
C C 100 C C
20000 | 20000 20000 20000 |
- 20( - - 20( - 208
25000 o . " = i . 2
III|IIII|IIII|IIII|IIII|IIII|IIII|III {' EEI:":":II|III|III|III|III|III|III|III|III|III|I ﬂ EEI::"::":.-'Illlllllllll IIII|IIII|IIII|IIII| D EEI:“::":IIII|IIII|IIII|IIII|IIII IIII|IIII|II ﬂ
30 -20 -10 O 10 20 3D G0 -40 -20 0 20 40 60 B8O 100 120 a0 =20 =10 ) 10 20 30 -150 -100 <50 O 50 100 150
diif_bpmdaYium diff bpmdeX/um diff_bpmdaYium diff_bpm12X/um
d. d . d . d.
- — —=gp - — - — 241 - —
15000 |- 15000 |- 15000 |- ase 15000 |~ _lyac
- - —a0C - -
10000 10000 10000 | e 10000 _yec
: a0t : : e :
5000 |- 5000 - o 5000 |- 5000 |- "
N N N —16( N
il o o e —{12c
- —{15¢ - - —{141 -
~5000 ~5000 300 ~5000 120 ~5000
10000 - 10000 10000 10€ 10000 —
- m o m 200 C . a0 - n
15000 | = = 15000 | 5 = 15000 | . . 15000 | T =
- - - 600 -
20000 of 20000 20000 20000
5 5 100 5 aor 5
25000 | 25000 25000 | 300 25000 200
C u C u - u C u
E.DDDD_III|IIII|IIII|IIII|IIII|IIII|IIII|III {' E.DDDD_IllllllllllllllllllII|III|III|III|III|I ﬂ MDDD-IllllllIIIIIIIII|IIII|IIII|IIII| D mnnn_llllllllllllllllII|IIII|IIII|IIII|II ﬂ
30 -20 -10 O 10 20 3D 60 -40 -20 0 20 40 60 B8O 100 120 a0 =20 10 i) 10 20 30 ~150 -100 -50 O 50 100 150
diff_bpmdaYium diff bpmdeX/um diff_bomdaY/um diff_bpm12X/um
BOOO — BOOD BOOD [~ BOOO — —{14c
B | B | - | B |
i — 18 - —30¢ i —|18t I
&000 Py BO00 - BO00 |- E000 1=
B m B m - m —14c - m
- - —{25( - -
- -4 - i - —{10(
4000 — . 4000 . 4000 —42¢ 4000 —
B [ ] —121 - — 300 - |
2000 — 2000 - i 2000 [~ 2000 —
| | 18t [ [ =
= o o o
- - 100 - -
~2000 ~2000 - m ~2000 ~2000 —
- - 5'}[ - -
i 200 i i 200 i
~4000— g ™ 4000 |- 4000 g g ~4000 |-
ot b b b b 0 Lol b b b b b baaa oo o boaaly 0 NI T A NN o b bbb aaa g
30 -20 -10 O 10 20 3D G0 -40 -20 0 20 40 &0 B8O 100 120 a0 =20 1D i) 10 20 30 ~180 -100 -50 O 50 100 150
diff_bpmdaYium diff_bpmdeXium diffi_bpmdaYium diff_bpm 12X /um
- _ n I = n L _EEt
- —22( . = —1et - - m
2000 2000 2000 |- —{z00 2000 _opr
- —{z00 - - -
i i B —18( i —480
1000 |~ —{181 1000 —lanr 1000 |- 1000
B [ | B B [ | —16[ - — 16
[ —{16C [ i [
= ] o ok —{14r o —
[ =140 [ i [ 1
B B —{60C B B
" 150 N - 12 "
-1000 -1000 -1000 -1000
[ [ i 100 [
- 0 100 - - = -
_2000 - a0t _2000 - 40( _2000 | B0 2000
B [ B [ B [ B [
~3000 — ~3000 ~3000 [~ ~3000 —
N 400 N 200 _ 400 B 400
4000 |- 200 4000 |- = 4000 [— - 200 ~4000 |- - 200
B B II||_LI|III|III|IIIIII|III - III|IIII|IIII|IIII|IIII|IIII| _III|IIII|IIII|IIII|IIII|IIII|IIII|II ﬂ

$am2468°vs diff

“bpm=COLZ postpan.png

=150 -100 -50 0 50 100 150
diff_bpm12X/um



reg_asym_sam?2

reg_asym_sam4

reg_asym_samo6

reg_asym_samg§

run6915 000

diff_ bpm1X

2000
- m - —an
1500
1000 —25¢
500 u
- —20¢
0
~500 & 15(
-1000
- 100
-1500
-2000 F 500
-2500 |
_l 1 11 | 1 11 | 111 | 1 11 | 111 | 1 11 | 111 | 111 I 111 D
60 -40 -20 O 20 40 &0 B8O 100 120
diff_bpmXum
| I _4{:”:
i n
2000 - m g
1000 |- TR
- - —a5¢
ﬂ_
- 200
-1000 = 15(
- 500
-3000 m
_l L 11 | L1l | L L1 | L 11 | L1l | L 11 | L1l | L1l I L1l D
B0 -40 -20 O 20 40 &0 8O 100 120
difi _bpm1Xum
d.
1500 [
- —35¢
1000 ™
- —30¢
00~ —25(
B ]
o n 200
- n -
soo[ 15(
C 100
1000 [~
[ 500
-1500 |
I NN N NN R N o
60 -40 -20 O 20 40 &0 B8O 100 120
diff_bpm1Xum
= I _25[
B |
300 —
- N "
| 200 —{20
| i
T
- u —15¢
of
100 _ m 100
_sp0
N u 501
[ m
-300
i [ |
-l 1 11 | 1 11 | 111 | 1 11 111 | 1 11 | 111 | 111 I 111
60 -40 -20 ® 40 60 B8O 100 120

diff_bpmdeX

2000 2000 -
- - N —{30C
1500 | 1500 u
1000 1000 —=ep
500 500 |
- - —{20c
o o
-500 & 500 15(
~1000 ~1000 [~
- - 10€
-1500 -1500
- 400 -
~2000 - 2000 500
- 200 :
~2500 B | ~2500 |
_III|IIII|IIII|IIII|IIII|IIII|IIII|III ﬂ _I|III|III|III|III|III|III|III|III|III|I ﬂ
a0 -20 =10 0 10 20 30 60 -40 -20 0 20 40 60 B0 100 120
diff_bpmdaYium diff bpmdeX/um
diff diff _bpmdeX
[ — — 220 [ — — A0
i n i n
—{z0c
2000 - 2000 - m agg
- —{18¢ -
- - —{anr
1000 [~ —|18 1000 |- .
Z —1ac Z _
. - . 25(
o ] o ]
[ = _ 300
~1000 -1000
i ] i - 15
_2000 _2p00 u
B 200 B =0t
~3000 m -3000 m
_III|IIII|IIII|IIII|IIII|IIII|IIII|III {' _I|III|III|III|III|III|III|III|III|III|I ﬂ
~ah -20  -10 O 10 20 30 B0 -40 -20 0 20 40 60 A0 100 120
diff bpmda¥ium diff bpmdeX/um
. —{200 -
1500 . 1500 .
_ —1ac - 35(
1000 - 1000 ™
B —16( B —{a0n
o —{141 -
500 500 -
n —{12¢ n
N N |
o o - 201
i i - -
- - 15(
~ 500 — =500 —
. " 100
~1000 [ ~1000 [~
i i 500
[ 200 [
~1500 |- | -1500 | |
ool b b brraa brraa b 0 ol bbb b b b b b o b 0
a0 -20 -10 0 10 20 30 &0 -40 -20 0 20 40 60 A0 100 120
diff_bpmdaYium diff_bpmdeXium
- i —14 - —agg
300 — 300 —
[ u - N
| C - —121 | C
, - —{10¢ , -
P00 - 1100
- . -
0 . —{15¢
[ m BOC 0
(U o
u [ u
i B0 i
~100 | -0 ™
zﬁn: 400 200 -
L n L 0
[ m 200 [ =
— 300 — 300 —
B B Ll

resression’res sam?2468vs diff ‘bpm-Ci

diff_bpmdeY

2000 —{1&¢
15005— yac
1000
- —12¢
500
- = —{10¢
o |
~500 |
-1000 |
C | H
-1500
~2000
- 200
~2500 |
_I|IIII|IIIIIIIII|IIII|IIII|IIII| D
-3 =20 =10 ) 10 20 an
diff_ bpmdeYium
d.
- —200
2000 [ - g
. —1&(
1000 -
- —14c
- —12¢
0 ]
. m
~1000
i [ |
_2p00
B 200
-3000 m
_|IIII|IIII|IIII|IIII|IIII|IIII| D
-3 20 10 ) 10 20 a0
ditf_bpmdeYium
diff_ hpmélc Y
1500
i —{18(
1000 |- - —|18¢
—{14(
500 [
i —{12¢
of
—5-I}EI_—
~1000 [
i 200
-1500 |
ol by v e b b aa o
A =20 -10 ) 10 20 an
diff_bpmdaY/um
diff _ hpméle Y
| —
awor r — 12
[ m
| 200
. - —10¢
| i
T
C |
of
= |
100 |
_so0
C [ |
[ m
~300 -
i [ |
-|IIII|IIIIIIIII|IIII|IIII|IIII|

ﬁ LLZ postpan:png

2000

1500

1000

500

E

—16(

—14(

—12(

—100

[ |
=500
=1000
|| [ |
=1500
=2000
200
=2500 n
sENISENEENEENINEENEENE NI R EERE NN RN NN 0
=180 =100 =50 (1] 50 100 180
difi_bom12X/um
difL
| L
| — 200
| [ |
2000 = = —18¢
i —{16L
1000
- - —14(
D__
—H}UU_—
_2000
B 200
~3000 — [ |
ol b b bv s v o b b 0
180 =100 =50 (1] L) 100 180
diff_bpm12X¥/um
d.
N —{ 200
1500
- —|18¢
1000 - " -
[ —14(
E-DD_—
B —12¢
of
—E-DD_—
~1000
i 200
=1800 — u
v v bvvr brr v berra bvvea vl 0
180 =100 =80 (1] B0 100 180
difi_bom12X/um
difL
B —
300 - —|12¢
B u I
B [ ]
I 200 — —100
i 1-[?0:—
N —{800
B [ |
O
100 |
200
B |
= |
~ 300
B [ |
Covabvvoa bvvvr bvr o brrra bvvnabvvna b 0

=150 =100

-50 0 50 100 150
diff_bpm12X/um



asym_sam?2

asym_sam4

asym_samb6

asym_sam3

run6915 000 re

10000

5000

=5000

10000

15000

20000

25000

15000

10000

5000

o

=5000

10000

15000

20000

25000

¥2 /[ ndf 22.34 /17

pO —1.489 £ 4.461

p1 2074106

20 0

diff_bpm1X

¥2/ndt  27.48/17

.I.IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

|
20 40 60 80 1

Ly
00

pO 4.463 £ 4.965

p1 -211.7 £ 0.6

2

5

P —
=L

L L
¢ 20 40 &0 80 100

diff_bpm1X

%2 / ndf 24.43 /17
p0 0.7081+ 2.5980
p1 68.47 + 0.33
2000 |- {,j‘f i}
ol
2000 g8
- H
[ ] |||T|| NN AN AN AR A RN NN |
60 -40 -20 0 20 40 60 80 100 120
diff_bpm1X
2000 [ %2 { ndf 22.76 /17
1000 |- ] p0 0.6238 + 0.2825
N: \ pi -33.61 = 0.04
~1000 | ’ -
-2000 | )
-3000 |- )
~4000 | ]

—Eﬂ 40 <20 0

2ressmn asvm SAlll

1ED

diff_

8000

6000

4000

2000

=2000

=4000

6000

¥2 / ndf

pU
p1

30.59 / 34

4.089 £ 6.542

-1724 £ 11

_30

20 =10

10

30

diff_bpmdaY

%2 /ndf 32.94/34
00 431+ 6.20
pi 2201 +1.0
2000

of
~2000 f—
4000 f— ++*“f
~6000 E— wa
~8000 f— -

-30

20 =10

10

30

diff_bpmdaY

- ¥ /ndf  16.08/16
10000

- Ty

n s —2./41+ 4 252
5000 =, PO

1]'E p1 -198.8+ 0.5

~5000 ,

: +*t|.+ d
10000 | - -
15000
20000
EEI::“:":I__I|III|IIIIIII|III|I||||II|III|III|III_|I

60 -40 -20 0 20 40 60 BO 100 120

diff _bpmd4deX

15000 | —

. ¥= [ ndf 18.25/16
10000 |

B -t po 4415+ 5.226
5000 o

j: \ o1 192+ 0.6

~5000 £ Ty ]

n 4
10000 F
15000 f— L
20000 —
25000 —

:I|III|III|III|III|III|III|III|III|III_|I

60 40 -20 0 20 40 60 80 100 120

diff_bpmdeX

%2 / ndf 27.81/34 2/ ndf 16.97 /16
p0  -1.714 + 2262 ”{H ) 00 1.343 + 2.547
pl 1055 £ 0.4 p1 66.77 +0.31
o I +J+
- 2000 - -
~1000 i 3
T |
2000 ?HJ]{IP{'# or
e _2000 | . +++:
- L
4000 = B _
Co b b b b by bvraa b o lva v bena bvra b bvra beaa bova Lo b
=30 =2 =10 10 an -50 40 20 0O 200 40 80 BO 100 120
diff_bpm4aY dift
mnz— - ¥2 | ndf 9213 / 34 2000 |- - ¥Z [ ndf 18.87 /16
300F p0  1.114+1.037 oof PO 0.492 +0.271
o0l - pl  -1.381+0.172 E \ o1 ~31.45 + 0.03
100 |- { - i 5
- L ~1000 |- T,
oF | ~H M&gﬂw _ - %t
100 - } | ~2000 | )
200 2000 - )
-:mnf— i | :
E -4000 |
Db lvraalyraalag i
T

“vs diff ‘bpmefit

_postp

diff_bpmdeY

[ - ¥2 / ndf 23.93/ 36
oo . p0 5.687 + 6.546
4000 — hm p1 -182.4+1.2

-
2000 ~ -

of

= 2000 }

i it -
=400 ~ -_

:I | 1111 | 1111 | 1111 | 1111 | 1111 | 1111 | |

=30 =20 =10 1] 10 20

diff_bpmdeY

¥ / ndf 25.58 / 36

p0 3.989 £ 6.048 , J
M

p1 2447 +11 o
.ﬁ‘l.i'UU__
of
-2000 |
_41}0[]:— _'].|.|'|4*+;
~6000 |- _ H+
S
8000 | -
|||||||||||||||||||||||||||||||||
30 -20  -10 D 0 20

diff_bpmdeY

p0 ~2.468 + 2.277 4

%2 / ndf 22.33/ 36 MH

pl 111.8 £ 0.4
of
1000 [
_ i
B H
2000 - +hdjrrﬁ
: {f
a00
—apoo |
Co lovv e bvr v bvv e bvvvan bvraa brv o by
=30 =20 =10 0 10 20
E ! ndf 24 95 /36
po 1.208 + 1.037

p1 0.9342 + 0.1867

: | WH**MW

10

an.png

diff_bpm12X

¥= [ ndf 48.99/ 36
p0 3.509 = 7.083 #
+ +H_+
o1 22.89 +0.23 e
of

~2000 [ H*r{r*”
~4000 p'l
~6000 [ {
_8000

°1

6000

4000

2000

=2000

=4000

= 6000

"-"1

3000

2000

1000

=1000

= 2000

=3000

1
_‘__|_ —_
=
+-

=150 -100 =50 1] 50 100 150

iff_bpm12X

¥ | naf 4377 1 36
pO 0.05357 + 7.54223

p1 -21.98 + 0.24

=180 =100 =50 1] 50 100 150

iff bpml12X

} %2 / ndf 5411/ 36
{ p0  —1.598 + 2.047
H pl -12.39 £ 0.09
e,
ﬂ#ﬂﬂ |
HHH#_+
v by bvrva b b a b o {III

=180 =100 =50 1] 50 100 150

diff_bpm12X

w2 | ndf 43.41/ 36

po 0.584 + 1.034

p1 0.1589 + 0.0334

20 _— } _
S *{} ] 4
: q f

200 :— i _
- 1

—4ﬂD:-

-ﬁﬂD:-

-150 =100  -50 1] 50 100 150



reg_asym_sam?2

reg_asym_sam4

reg_asym_samo6

reg_asym_samg§

run6915 000 regression |

diff_bpm1X

¥ = ! ndt 144 /17
p0 0.914 + 0.925

p1 0.08776 £ 0.11851 -

 E—

500

=1000

=1500

=2000

-EEDU'IIIII|III|III|III|III|III|III|II

Ll
-60 -40 20 O 20 40 60 80 100

diff_bpm1X

%2 [ ndf 12.64 /17
p0  —0.0949 +0.9125
o1 0.1293 £ 0.1172 ]l
of _HH*- M{} -
—1-I}DU:—
-E-DDU:—
_E.DDD_I|||||||||||||||||||||||||||||| _|

I|I
-60 -40 20 O 20 40 &0 80 100

diff bpmlX
¥2 ! ndt 9.918/17

pO -0.723 £ 0.515

p1 0.01431 = 0.06594

i Jr{ +++_ i

500 -

~1000 |

1500 -
ANEEE NN NN NN TN AN AR AN
60 40 =20 O 20 40 80 80 100 120

diff_bpmI1X

¥2 { ndf 1838717

pO 0.3651+ 01796

p1 0.02582 + 0.02297 } B

N 1 Jg[
R .
-200
-300
:||III|III|III|III II|III|III II II

reg

diff_bpmd4aY
- +2 | ndf

200 p0

33.8 /34

0.9846 £ 0.9323

-0.2796 £ 0.1563

oL *hjmwm g

200 —

_4pn b C

G600 —

30 <20 10 1] 10 20 a0

diff_bpmdaY

= [ ndf 29.07 /34
p0 01137 =z 0.9191 )
p1 0.3142 £ 0.1537
100 ‘H
: 0
oF k ﬁ.\] MJF{,H _
ST ]
200
300 | -
:III_|IIII|IIII|IIII|IIII|IIII|IIII|III

30 =20 <10 1] 10 20 a0

diff_bpmdaY

2 ndf 28.48 / 34
p0  —0.6597 + 0.5188 ]
p1 0.1105 + 0.0869

T

4

B

30 <20 10 1] 10 20 a0

diff_bpmdaY

¥/ ndf 26.92 /34 ¥< { ndf 1071716

p0 0.3135 £ 0.1803 pO 0.3636+ 0.1812

p1 0.04638 + 0.03013 " H p1 0.02865 + 0.02245 | -

oT ||_i|'1"1-'+'"'r-ﬂ--- -rm.h_l_-q_ - - ][ )
= . - '+ + -
= o -t pm— i -
[ h i - H i
~50 B 1

- 0

100 ~200
5 300 :_

sam?2468 vs diff ‘Hpm:

diff_bpmdeX

¥Z { ndf 27161716
pO 1.034 £ 0.934

p1 0.07292 + 0.11604 | |-

i
-500 )
=1000
=1500

= 2000

~2500

Ll
-60 -40 20 O 20 40 60 80 100

diff_bpmdeX

%

bpmdeY

_ - ¥ | ndf 23.25 7 36
300

E pO 0.9744 £ 0.9323
200

E - p1 —(.08648 + 016785
100 * |

- h ’fWﬁ#m )

of } HN o Hl -

100 |
1] e k
-a00 |- i
_WD __I | I-I 11 | 11 11 | 11 11 | 11 11 | 11 11 | 11 11 | 1

=30 =20 =10 1] 10 20

30

diff_bpmdeY

12." naf 1219716 h
p0 —0.3795 £ 09212
p1 0.09196 £ 0.11489 i‘
commonaly
- 4 -
ll]_ -fwﬂ__"ﬁm_}
—1{?00_—
—EﬂDD_—
_SDDD_|||||||||||||||||||||||||||||||||||||_||
60 40 20 O 20 40 60 80 100 120
dithpméIgX
1500 — —
- ¥ ndi 17.02/16
1000 |- po —0.7863 + 0.5198
=00 :_ p1 —0.002893 + 0.064661
— +
o 4
ﬂ__ _++'H+H +h1+++_ -
500 -
~1000 |
1500 -
b b v b bvoar b b b bvaa by
-60 40 <20 0O 20 40 80 BD 100 120

diff_bpmdeX

%

bpm12X

- ¥° | ndf 46.09 / 36
400 —

[ - p0 1.071+ 0.932
E{:ID_— )

| il p1 —0.04635 + 0.02978

= I-I I

.|]_— . mh{[hwm-}m_ [

-E{:ID_— | *
—4{?0_— -
—-EH}D_—

_III|IIII|IIII|IIII|IIII|IIII|IIII_|III

=150 -100 =50 1] 50 100 150

diff_bpm12X

',;{2 fnat a4 25736
pO —0.2184 £ 0.9191 )
p1 0.04267 £ 0.02947
o ‘ HW#W ot 1}
N { 1 * }
_s00 } _+
_a00 -

=180 =100 =50 1] 50 100 150

diff_bpm12X

%= { ndf 25.92 36
p0 -0.2166 £ 0.9193
p1 0.1095 £ 0.1655
T T
1 H { |
of } Wﬁﬁﬁ*{w
- H«,# Jr ” o
100
a0
-a00 |- -
:I|_IIII|IIII|IIII|IIII|IIII|IIII|I
-30 -20 -10 ) 10 20 a0
12/ ndf 23 91 /36
p0 -0D.6782 £ 0.5188
o1 0.0453 + 0.0933 H{
[ || { -
ﬂ_
- p m W"?‘“’“‘”"*“‘“‘ N 'ﬁ’rw
100 )
_200 -
-31}0__|||||||||||||||||||||||||||||||||
-30 -20 -10 0 10 20 a0
| ¥/ ndf 38.82/36
B - | p0 0.325 + 0.181
L it
I H{ pl  —0.007495 + 0.032343

¥Z { ndf 48.99/ 36
pO -0.6527 + 0.5186
p1 0.01877 = 0.01662
100

uz— | mw*&wﬁﬂﬁw%ﬂ#ﬁ | }
-mn;— Jr -

=180 =100 =50 1] 50 100 150

diff bpml2X
x* / ndi 29.8/ 36

p0 0.362 £ 0.181

p1 0.004089% + 0.005762

=100 -

_1ED—||IIII|IIII|IIII|IIII|IIII|IIII|I

oL |

=2{) =10

1t postpan.png

a0

—_——
I

- 20

-150 =100  -50 1] 50 100 150




asym_sam?2

asym_sam4

asym_samb6

asym_sam3

=5000

10000

15000

20000

_LIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

25000

III|III|III|III|III|III|III|III|I.II
=60 40 =20 0 20 40 60 B8O 100 120
diff_bpmXum

=5000

10000

15000

20000

25000

_|III|III|III|III|III|III|III|III|III
EHDDD-ED -40 =20 O 20 40 60 BO 100 120
difi _bpm1Xum

di

8000

a
E
a
E

6000

4000

2000

=2000

Lovvbvva b vrv brwr by bvvan bvaa b s e
60 40 =20 (1] 20 40 80 BD 100 120
diff_bpm1Xum

2000 — 2000 :— 2000
1000 — 1000 — 1000 —
of
~1000 — ~1000 — ~1000 —
~2000 — ~2000 — ~2000 —
~3000 — ~3000 f— -3000 f—
4000 | ~4000 — ~4000 —
-|||||||||||||||| |||||||||||||||I||| N B ||||_L||||||||| ||||

S s E em A

run6915 000 resressionas

~5000

10000

15000

20000

25000

a0 -20 -10 O 10 20 30
diff_bpmda¥ium

diff_bpmdaY

15000
10000
2000
1]

=5000

10000

15000

20000

25000

oty v by by by s Ly g liag
30000 =30 =20 =10 0 10 20 30

diff_bpmda/um

di
8000
6000

4000

2000

=2000

-4000

30 -20 -10 O 10 20 30
diff_bpmda¥ium

91.

-vs diff

10000

5000

~5000

10000

15000

20000

25000

II|III|III|III|III|III|III|III|II.I |I
40 -20 0 20 40 60 B0 100 120
diff_bpmdeX/um

2

91

=5000

10000

15000

20000

25000

|III|III|I
-60 -40 -20 0 20 40 60 B8O 100 120
difi _bpmdeXsum

30000

8000

6000

4000

2000

= 2000

=4000

bl
a0 100 120
diff_bpmdeXium

‘bpm:sca

t postpan.png

10000

15000

20000

~5000
[

25000

=30 =20 =10 1] 10 20 a0

diff_bom4eY/um
diff

15000
10000

5000

=5000

10000

15000

20000

25000

c v by by by v by g by g |
$0000 =30 =20 =10 0 10 20 3o

diff_bpmday/um

di

Ei

8000

6000

4000

2000

= 2000

=4000

30 -20 -10 0 10 20 a0
diff_bpmdaY/um

2000

1000

=1000

= 2000

=3000

=4000

' DOS

15000

10000

5000

~5000

10000

15000

20000

25000

1 1 | 1111 I 1111 | 1111 | 111 I-I 1 111 | 1 111 | 11
~150 -100 -50 O 50 100 150
diff_bpm12X/um

=5000

10000

15000

20000

25000

ol by by s by by by Iy
30000 =180 =100 =50 0 50 100 150

diff_bpm1 2X/um

8000
6000
4000

2000

= 2000

~4000

prr v bvr v b b ||| 111 ||| il
180 =100 =80 (1] B0 100 180
difi_bom12X/um

1000

=1000

= 2000

=3000

-4000

cea e by b b v b aaa by
-150 -100 =50 (1] 50 100 150
diff_bpm12X/um




reg_asym_sam?2

reg_asym_sam4

reg_asym_samo6

reg_asym_samg§

run6915 000

2000

1500

1000

500

1]

=500

=1000

=1500

=2000

-2500

diff_bpm1X

-60 -40 20 0 20 40 60 8O 100 120

diff_bpmXum

diff_

1000

=1000

=2000

=3000

-60 -40 -20 0 20 40 60 8O0 100 120

difi _bpm1Xum

d.
1500

1000

500

-500

=1000

==
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

=1500
I NN NN NN AN

-60 -40 -20 0 20 40 60 8O 100 120

diff_bpm1Xum

300

| 200

L 1]

=100

- 200

=300

==
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

-60  -40 =20 2 40 60 80 100 120

regression-reg sam

2000

1500

1000

500

=500

=1000

=1500

=2000

-2500

30 <20 10 1] 10 20 a0

diff_bpmda¥ium
diff

2000

1000

=1000

=2000

=3000

30 =20 <10 1] 10 20 a0

diff_bpmda/um
diff _

1500
1000

500

=500

=1000

=1500

=
I|IIIIIIIIIIIIIIIIIIIIIIIIIIIIIlI

30 -20 -10 O 10 20 30
diff_bpmda¥ium

2000

1500

1000

500

=500

=1000

=1500

= 2000

-2500

-60 -40 20 © 20 40 60 80 100 120

diff_bpmdeX/um
diff

2000

1000

=1000
= 2000

=3000

80 100 120
difi _bpmdeXsum

1500

1000

500

-500

=1000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

=1500
plvvabvrabvvr bvea bvra berr b bova bvaa b

60 -40 -20 0 20 40 60 B8O 100 120
diff_bpmdeX/um

- | — L |

300 - 300

| 200 | 200
| - | -
P00 - 1100
oF oF
100 | 100 |
200 - ~200 |-
-300 -300

468 v diff Bomisés

diff _

2000

1500

1000

500

=500

=1000

=1500

= 2000

- 2500

30 =20  -10 0 10 20 a0
diff_bom4eY/um

91

2000

1000

= 1000

= 2000

=3000

—3D =20 =10 1] 10 20 a0
diff_bpmday/um

diff_bpmdeY

1500
1000

500

~500

=1000

=1500

==
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

30 20 -10 0 10 20 a0
diff_bpmdaY/um

300

| 200

P00

=100

- 200

=300

10

_ postpan.png

2000

1500

1000

500

-500

=1000

=1500

= 2000

-2500

cea e by b b v b aaa by
=150 =100 =50 0 50 100 150

diff_bpm12X/um
diff

2000

1000

=1000

= 2000

=3000

=150 100 =50 0 50 100 150

diff_bpm1 2X/um
diff _

1500

1000

500

- 500

=1000

=1500

=
I|IIIIIIIIIIIIIIIIIIIIIIIIIIIIIlI

per v bvrvr v rr berra bvre s br b
180 =100 =80 (1] B0 100 180
difi_bom12X/um

300

I 200

e

100

=100

- 200

-300

cea e by b b v b aaa by
-150 -100 =50 (1] 50 100 150
diff_bpm12X/um




asym_sam1

asym_sam3

asym_samd

asym_sam’7/

1500 | —j20
- —{18¢
1000
- —{18(
500 —14(
- 12¢
o
C 101
500 800
N m
N BOC
~1000
- 400
B [ u
-1500
: . 200
_l 1 11 | 1 11 | 111 | 1 11 | 111 | 1 11 | 111 | 111 I 111 D
60 -40 -20 O 20 40 60 B8O 100 120
diff_bpmXum
difL
B — —16(
10000 — g
: —14(
5000
[ —{12¢
o —{101
-5000 | B0
i E N BOC
10000 [~
i 400
15000 |-
- 00
i m
E‘DDDD | L 11 | L1l | L L1 | L 11 | L1l | L 11 | L1l | L1l I L1l D
60 -40 -20 0 20 40 60 B8O 100 120
difi _bpm1Xum
difL
I
i —{z00
4000 |
- —{18¢
. —{16¢
2000
i —{14(
- m
| u —{12(
ﬂ __
. - 100
- m
. BO(
-2000
- BOC
- 400
-4000
. m 200
_|||||||||||||||||||||||||||||||||||| o
60 -40 -20 0 20 40 60 B8O 100 120
diff_bpm1Xum
difL
- I
3000 o
N —{101
2000
1000
- —{sor
oF
~1000 B0(
2000
- ] 40
3000 -
~4000 - 201
~5000 - .
| 1 11 | 1 11 | 111 | 1 11 111 | 1 11 | 111 | 111 I 111

run6915 000 regression-asym sam

diff_bpmdeY

dift_
120

- - e N - N
n 2= n - N n
1500 [ 1500 |- —{s0¢ 1so0f ™ —{18¢ 1500 [
: — 200 - - - — 10
N . N —18c - —18i N
1000 1000 |- 1000 |- 1000
E a0 E [ | —16( E —1ar E i P
500 — OO — — 500 — 500 —
- 14 - 14 - 12 -
B B 190 B B
0 12t 0 0 0
B B 100 B B
=500 — =500 — BOC =500 — =500 —
= = [ | L =
B B 00 K B
~1000 - 1000 | ~1000 |- 1000 -
" " 400 B B
B | B | u B | B | 201
~1500 |- 1500 | 200 1500 | ~1500 |-
B [ | B [ | B [ ] B [ |
oo lvvea v bvvra v bevna bvvan ba NI R RN F N NN NN RN AR AR 0 Sl bv v v v bv v b aa FENINEENE RNl NN F RN NN NN 0
=30 =20 =10 (1] 10 20 an =60 =40 =20 0 20 40 80 82D 100 120 =20 =20 =10 (1] 10 20 an =180 =100 =50 (1] 50 100 180
difi_bpmdaYium diff_bpmdaX/um difi_bpmdaY/um difi_bpm12X/um
diff_ diff_bpmdeX  diff_ diff
[ — [ — i —25( [ — —25(
10000 N lagr 10000 T m 10000 — 10000 N N
B B —14( B B
5000 5000 ya 5000 — 20 5000 —20¢
B —200 B B B
i i i [ =
o o - o o
- - - —{15¢ - —{150
B 150 B i B
| n a0 B |
~R000 N 5000 N =B000 — =R000 N
B B [ 100 B
i E m 100 i E N 60( i r r i T
10000 N 10000 — 10000 — 10000 N
B B 400 B B
B 500 B R 500 N 500
15000 — 15000 — 15000 — 15000 —
R R 201 B R
- | - | - | - [ |
E_DDDD_III|IIII|IIII|IIII|IIII|IIII|IIII|III 0 EDDDD_'l"'l"'l"'l"'l'"l"'l"'l"'l"'l' 0 E{?DDU_l""l""I""l""l""l""l 0 Eﬂnnn_llllllllllllllllII|IIII|IIII|IIII|II 0
=30 20 =10 (1] 10 20 a0 60 40 20 O 20 40 60 80 100 120 =30 20 =10 (1] 10 20 an 180 =100 =50 (1] L) 100 180
difi_bpmda¥ium difi _bpmdeXsum diff _bpmdeium diff_bpm12X¥/um
i — | — —|20c | — [ — —j12¢
4000 - e 4000 4000 [ age 4000 - n
| | —{18( B |
= _35( - - - _1'[:":
= = _1'5[ | _-:'H}E =
2000 — 2000 — 2000 - 2000 —
I —{30( I —{14( s i —jeo
B B - R —25( B
I —o5¢ . u —12( ! i
o o - o 300 o
i 200 i u i i
B B - B B
: : 80( - 15¢ :
2000 13¢ ~2000 2000 2000
i i BOC i i
N 108 N B 100 |
B B 40¢ B B
~4000 [ cor ~4000 [ ~4000 cor ~4000 [
= i . 200 . u . n
_||||||||||||||||||||||||||||||||||||| 0 _||||||||||||||||||||||||||||||||||||||| 0 _|||||||||||||||||||||||||||||||| o _||||||||||||||||||||||||||||||||||||
=30 20 =10 1] 10 20 an -60 40 <20 0O 20 40 80 BD 100 120 =30 20 =10 1] 10 20 an 180 =100 =80 (1] B0 100 180
diff_hpmdaYium diff_bpmdaXium difi_bomdaYium difi_bpm12Xium
diff _ diff_bpmdeX  diff_bpmdeY diff_
- I —EE': - I - - L
3000 3000 F g 3000 oot 3000
- — 201 - —1et - : — 201
2000 2000 2000 — — 18 2000
= | = [ = —{18(
~ 18I ~ - ~
u u —{10C - —16( u
1000 — e 1000 — 1000 | 1000 — —1&0
" " K —114( "
o —1ar oF - oF o ® —|14
; ; : iz ;
~1000 120 ~1000 F -1000 F ~1000
- o - coc - 100 - " g
2000 -2000 2000 2000
u u u 800 u
- m Boc - m - n - n
=3000 — =3000 — 400 =3000 - =3000 —
: . 60t : . : = 60C : . 60¢
-4000 a0t -4000 - -4p00 - 40¢ -4000 - .
- - 200 - -
_ [ _ - _ - a0 _ [
B000 B 200 E000 B - B000 B - B000 B - 200
'||||||||||||||||| C ||||_|_|||||||||||||||||||| Codlovv b v o bvv v bvvv s by v by aa SENINEENEEEENI NEENEENE NI R EERE NN RNl NN 0

sam1357-vs diff

“bpm=COLZ postpan.png

=150 -100 -50 0 50 100 150
diff_bpm12X/um



reg_asym_saml

reg_asym_samJ

reg_asym_samd

reg_asym_sam?/

run6915 000

B —
300 :_ [ ] —16(
[ —{14(
I 200
. C m
| - —12¢
! ‘H}D_— " =
= — 10
of
B 8Ol
~100 |
B 60
200 [
- B 400
[ 201
~300 | -
_l 1 11 | 1 11 | 111 | 1 11 | 111 | 1 11 | 111 | 111 I 111 D
=60 =40 =20 (1] 20 40 80 BD 100 120
diff_bpmXum
d .
- W
i —10(
2000 [
B [ |
1000 — B0
B |
oF
5 a0
1000 |
i 401
2000 | -
-3000 |- 201
N [ |
4000
_l L 11 | L1l | L L1 | L 11 | L1l | L 11 | L1l | L1l I L1l D
50 40 =20 (1] 20 40 80 BD 100 120
difi _bpm1Xum
difL
600 — —16(
" ano | — 14
: . |
| = _
V00 m 12(
B —10(
o
B | BOL
B [ |
=200 — I
B u 600
_a00 | u
- " 4010
-600 —
- N 200
o bt b by v b beaa Lo
_MD—ED 40 =20 (1] 20 40 80 BD 100 120 o
diff_bpm1Xum
diff_ bpmlX
I
600 - —as(
I - W _3'[:'[
- '1"'}0 -
| i
! B —25(
200 |- -
i 200
ﬂ -
o 18(
=200 = 10
~400 - . 0L
B [ |
| 1 11 | 1 11 | 111 | 1 11 111 | 1 11 | 111 | 111 I 111
60 -d40 =20 2 40 60 80 100 120

- —a0c -
300 300 —|16¢
[ —a0C [
| Z | Z —{14c
200 7o 200 |-
£l - k) - .
| B | B —12(
R [V — (600 To00 -
0 0 —{100
of o
[ [ BOC
~100 ~100 |
B B G600
-200 — =200 AL
- = -
o o 200
~ 300 - - 10C - 300 B m
_III|IIII|IIII|IIII|IIII|IIII|IIII|III ﬂ I|III|III|III|III|III|III|III|III|III|I ﬂ
a0 -20 =10 0 10 20 30 60 -40 -20 0 20 40 60 B0 100 120
diff_bpmdaYium diff bpmdeX/um
d'r d .
- - u
0 - —{10c
2000 [~ —{501 2000 -
N u N u
1000 [~ 1000 —Boc
N —[400 B m
o o
n . BOC
0 300 0
~1000 F - 1000 [~
[ [ 400
-2000 " 200 2000 =
~3000 - 100 ~3000 20(
n m " n
~4000 |- ~4000
_II|IIII|IIII|IIII|IIII|IIII|IIII|III {' _I|III|III|III|III|III|III|III|III|III|I ﬂ
~ah -20  -10 O 10 20 30 B0 -40 -20 0 20 40 60 A0 100 120
difi_bpmda¥ium difi _bpmdeXsum
d' difL
ﬁun:— —B0C 00 :— —18C
B —{a00 B
' a0 s | 14
: | —700 : | |
I - | - —{12¢
200 200 -
L _E_Dt L
Z : —{100
'I]_— [ | (1] N
. . BOC
[ _
_200 ~200 |-
i i BOC
— 400 N 400 N u a0
. 200 i
~B00 ~B00 -
_ - 10 - 300
- . -
b b b b b b Lo NI TN oty
~500 30 =20 -10 0 10 an a0 0 ~800 -0 B0 100 120 o
diff_bpmdaYium diff_bpmdeXium
diff_ bpmd4aY  diff
I
_ —{20c _
B00 T
. —{18¢ .
oL I N
~ 400 —| 16t © 400
] : —14 ]
200 _— —{2( 200 _—
| 100 |
ok =
| 80r |
-~ 200 600 - 200
400 -
~400 200 ~400 -
1 | 11

regression’ mreg_sdﬂi”i?iST‘ “vs dift

=1
IIIIIIIIIIIII|IIII|IIII|IIII|IIII|II

300 — —{80c
I ;_u}[;.:— — 700
| : —{60(
"0 m
of
N [
100 |
~z00 |
-300 - N
B | L 111 | L 111 I 1111 | L 111 | I | | 1111 | 0
30 20 100 10 20 a0
diff_bpm4aY/um
diff _
3000
C — 500
2000 |
B [ |
1000 [~ . b
ol
C a0c
~1000 | "
- 201
-2000 |- .
~3000 100
- 0
~4000 |-
B | L1 1 1 | L1 1 1 I 11 11 | L1 1 1 | L1 1 1 | 1111 | D
W 20 10 0 10 20 30

diff_bpmday/um

iff_bpmdeY

=

GO0 —{80c
| apn - —{700
| B —

1 E{?U_— J a0
'I}_— [ |
- W

—E'I}EI_—

—JH}EI_—

-B00 I~ 100

- [ |
-BED-'l""l""I”"l""l'"'l”"l o
=30 20 =10 1] 10 20 an
difi_bpmdaYium
diff bpmdeY
| I

GO0 = —18(
I B —16(
CoAnor —1ar
] _

B —12(

200

= 100
or B0OC
B GO0
~ 200 —
| 400
400 - 0 200
NI T TNl NN EEE e

ﬁ LLZ postpan:png

I 200

o0

=100

- 200

~300 B

cea e by b b v b aaa by
=150 =100 =50 0 50 100 150

diff_bpm12X/um
diff

- u —{s0c
2000 [
B [ |
1000 | —40(
ﬂ__
i anc
1000 |-
B 200
-2000 - "
_:mnn:— 100
B [ |
—JH}EIU—
FENIEEEEEEEE NI NN NN EE RN EE RNl Bl 0
—1ED =100 =80 (1] L) 100 180
diff_bpm12X¥/um
diff bpm12X
- —ant
'E-I}EI_—
| — 800
: B
400 —
. B — 700
_—
I -
! E-DD_—
o
=200
=
—4«DD_—
600
- i 101
Gl e bvra bvrea bv s bvvaa b
~500 180 =100 =80 (1] B0 100 180 o
difi_bpm12Xium
diff bpm12X
| L
N B —{18L(
600 —
| —18(
I B
o400 —14(
] i
—{12(
200 —
D_
200
-400 i 200
polvvra v r b bv e b bv v b 0

=150 -100 -50 0 50 100 150
diff_bpm12X/um



diff_bpm1X diff_bpmdaY diff_bpmdeX diff_bpmdeY dlthmeZL

[ % f ndf 25.31 /17 eoo b %2 1 ndf 34.93/34 [ %= [ ndf 14.65/ 16 oo b ** / ndf 31.2/386 %2 1 ndf 53.14 / 36
500 |- _'er L - 500 | 'hﬁ [ H
I ]l’r+ p0 —0.3468 + 1.0797 - thl p0 0.4325 + 0.5378 2 I, p0 -0.5854 + 1.0779 - p0 0.6861+ 0.6041 po 0.3832 + 1.0158 1{]} -
[ Y w000 - My r - 1000 = Hy M }
oL p1 1375+ 0.14 - . p1 _44 61 + 0.09 oL p1 -13.85+0.13 - p’”mh p1 -46.02 £ 0.11 p1 4.628 +0.032 4
i - 500 |- I - 500 |~ -
: *111 = E : q*j'l'* + E D:_
asym_saml o o °F o . °F
— : N : - i _ 400 :_ - +,

1000 |- -500 = . 1000 |- -s00 . : HW
. [ o, . B “, ~600 [~
B = + N B P
i = y i = He N
i ) ~1000 *’ﬂ-{_{.-_ - i -1000 *}}Jr#___ 800 |- }

1500 E i 1500 - C
- _ N _ = _ B _ 1000 —
-II|||III|I||||||||II|III|III|III|IIII -1EDD_I'II|IIII|IIIIIIIII|||II|IIII|IIII|III ||III|IIIIIII|III|I||||II|III|III|III|I -1EDU_I|||II|||II|||I||IIII|IIII|IIII|I _III|IIII|IIII|IIII|II|||||II|IIII|III
60 -40 -20 O 20 40 60 B8O 100 120 30 -20 -10 0 10 20 30 60 40 -20 O 20 40 60 80 100 120 30 -20 -0 O 0 20 30 150 -100 -50 0 50 100 150

°1

- 2indf 42.01/17 y2indf  31.56/34 :_ x/ndf  29.02/16 x2/ndf 2429/ 36 ! x*/ndf - 40.59/36

5000 - p0 1.222 + 0.636 p0 2.694 + 3.783 - 5000 |- . p0  0.8187 +0.7113 p0 2.813 + 3.769 T 2000 - p0 1.095 + 3.810
[ A p1 -127 + 01 p1 25.68 + 0.63 B ) p1 -118 £ 0.1 p1 31.35+ 0.68 P [ p1 ~1.118 + 0.123

0 - S #‘Hﬂ]ﬁﬂ‘ 0 - - w 1000 - *
- it oF - 2 ey °F - S 4} :
asym_samJ3 = M ] P by
—_ i _ ~500 - ! e - - : W L -l

10000 - - 10000 ~1000 | { |
- 1000 [ - =1000 =
- : - ~1500 [~ H i *

15000 — -1500 = 15000 — C B i -
:Illlllll |I |III|III|III|III|III|I_II| _E.DDD__Illllllllllllllll|IIII|IIII|IIII|III :I|III|III|III|III|III|III|III|III|III_|I EI|I_III|IIII|IIII|IIII|IIII|IIII|I [ I|IIII|IIII|IIII|IIII|IIII|IIII|III
60 =40 =20 0 20 40 &0 BOD 100 120 =30 =2l =10 ] 10 20 ah -50 40 20 0O 20 40 60 BO 100 120 =0 =2 =10 0 10 20 ah =150 =100 =50 ] 50 100 150

diff_ bpm1X  diff bpmdaY = diff_bpmdeX diff_ bpmdeY  diff_bpm12X

x2/ndf  2562/17 12/ ndf 36.43 /34 ¥2 / ndf 16.7 /16 %/ ndf 25.3 / 36 ) : x2/ndf  60.03/36
B - #f' _ ) e 3000 E +
p0 1.846 + 3.241 ( po —0.1586 = 0.7651 i p0 2.33+3.27 Jr p0 —0.9795 £ 0.7073 e - p0 -0.877 £ 2716
= P 2000 -
p1 4.161+0.413 { p1 1378+ 01 pl 7.497 £ 0.404 p1 148 £ 0.1 o M‘«u\‘ p1 -14.87 + 0.09
oF il T Py | L 1000 [ ik
: _} +Jr oF E }H«*/ ] I E
~500 { - - -500 - - or
asym_samd B R i
o S0 B _2000 - r -eoo - _a000 E- E - \
1500 2 : < - : #*’: - %1‘# ) A
L ~3000 - * 1500 ~3000 - ~2000 |- Lth
: - : ST -
-2000 i} ~4000 ~2000 F _ 4000 T N
B _ - B C -3000 — -
Ol oo by v v bv o bova by by aa d Sspoo B b v b v by brraa b Dol b boa e b bvaa e by b b Sspoo Bl v bvv v v brv e braaa by o b b b b bvsaa by a b
60 -40 -20 O 20 40 60 B0 100 120 a0 -20 -0 O 10 20 30 60 —40 -20 ©0 20 40 60 B8O 100 120 30 =20 10 o 10 20 30 ~150 -100 -50 O 50 100 150
diff_bpmi1X diff_bpm4aY diff_bpmdeX diff_bpmdeY diff_ bpml12X
3000 & C 3000 | — -
- ¥ | ndf 20.25/17 600 |- %2/ ndf 29.79/ 34 - %2/ ndf 19.04 /16 B00 [— %2/ ndf 22.56 / 36 %2 / ndf 41.23/36
2000 - 2000 i
S pO -0.03747 + 0.37808 o0 - PO 0.6757 £ 1.3553 C T p0 -0.1785 £ 0.3006 - PO 0.8741% 1.3542 PO 0.3991+ 1.3379
1000 S - 1000 | = a0
- p1 —44.01+ 0.05 [ p1 _B.465 + 0.226 - p1 -41.67 £0.04 I p1 -5.751+ 0.244 p1 1.835 £ 0.043
o 200 - {-H- o - - I +}
n [ - 200 -
: i i + _ - § - [ - Mﬂ#]ﬂl
1000 | . - ) 1000 | L I HI'PL oL - /
- 0 - u - - -
7 : s - : 4 ' _ BRI
asym Sam -2000 |- - i ﬁ ~2000 |- " - or { - i 4 P“h
— N -200 [~ IL : - - } rHﬂH - 00—
3000 - 3000 - | L
. - I - - 200 |
~4000 ~400 { 4000 [ . i !
N - N B =000 — |
-5000 [ . 600 - ~5000 - o i
- _III|IIII|IIII|IIII|IIII|IIII|IIII|III

run6915 000 resression asym sami3537 vs diff ‘bpm:fit postpan.png R




reg_asym_saml

reg_asym_samJ

reg_asym_samd

reg_asym_sam?/

run6915 000 re I O R

diff_bpml1X

¥/ nf £.361/

pO 01715 + 0.2640

p1 0.01037 + 0.03369
[ 1

=100

-200
_II||||I|||III|III||II|III|III|III|I_III
60 -40 <20 O 20 40 &0 80 100 120

diff_bpm1X

%2 | ndf 19.37 /17 )

pO 0.3693 £ 0.3111 | _

p1 0.1188 £ 0.0431 -
= _++tf~—-—~m¢+-—

-mnnf—

-EﬂDDf—

-:mnnf—

-mnni—l...I...I...I...I...I...I...I...I._..I
-0 40 20 0O 20 40 80 BD 100D 120

diff_bpm1X

2 | ndf 14.76 /17

PO ~0.3125 + 0.5476

p1 0.01019 + 0.06958

of 'WHWM'_

-mnf— -

-E{}Df— - T

_:mnf— -

_mnf— )
T TR ST RN TS RN R RN NET A SRR REEY
60 40 =20 0 20 40 &0 BOD 100 120

diff_bpm1X

¥ ndf 16.05 /17
pd  -0.003312 + 0203017
p1 0.02227 + 0.02611
200 —
| A
=200
~400 - -
_I I|III|III|III II|III|III 11 |

!
1ED

%

bpmdaY

100 - ¥% ! ndf 33.17 /34
[ p0 0.1311+ 0.2651

ool i
: p1 —0.03836 + 0.04435

ol } $1 e bt g |I|r“d+

i } i

sl - _

=100 _—

cea v b b v b by aa laa g
=30 =20 10 0 10 20 30

diff_bpmdaY

¥/ ndf 27.61 /34
p0 0.382 + 0.327
p1 0.04665 + 0.05414 }
+

or wwﬁw&mﬂ _
50 B
—1{?0_— |
_1ED_III|IIII|IIIIIIIII||||||||II|III_I|III

30 =20 <10 1] 10 20 a0

diff_bpmdaY

%2 [ ndf 30.29 /34
p0 ~0.3266 £ 0.5501 )
pi 0.1447 = 0.0920
mnf— {

-l

ﬂ:— '}- ++HIH‘WF+WJH o
-mnf— J
-zm:uf— _

O v bvv o b by by b va Loy

30 <20 10 1] 10 20 a0

diff_bpmdaY

};"2 { nat a6.41 7/ 34

pO —0.04958 + 0.2045

p1 0.02244 + 0.03399

' J"WH;H*WWHH”{{ '
B 1 )
m +
sl } )
100

1357 vs diff ‘Bpms

oression reg sam

diff_bpmdeX

¥ | ndf 1366/ 16
pO 0.2008 £ 0.2666
p1 0.01416 £ 0.03309 )
o HJ’|-+++F|:--————¢H+|1_
-100
-200 -
Dol by bea by b boaa by aa o n

Ll
-60 -40 20 O 20 40 60 80 100

diff _ bpmdeX
¥2 | ndf 16.43/ 16

p0 0.3011 £ 0.3127

pl  0.08981 +0.04172 } T
T

%

_bpmdeY

= F
O ety -
-1000 |-
~2000 |
~3000 |-
—WDD;||||||||||||||||||||||||||||||||||||_||
-60 40 =20 O 20 40 60 8O 100 120
diff _bpmdeX
I::I_— —
C Iz.lr['ll:“ 19.63/16
300
E p0 -0.46816 £ 0.5533
200
- pi -0.0088 + 0.0684
100
- . T
oF '{“J_F'-hﬁ-u—--—-:ﬂ+ﬂ++
-100 ]‘ i
_soo | )
300 |- -
400 & )
E b bvr b bven b b beva b Leaa by
-60 -40 =20 0O 20 40 60 8O 100 120

diff_bpmdeX

¥< { ndf 14894 /16
pO 0.01223 + 0.20479

p1 0.01238 + 0.02547

100 |
[ - 32/ ndi 20.41 /36
8o
N - 0
80 p 0.125 + 0.265
40 :— p1 —0.009806 + 0.047709
20 ] H ‘
ﬂ:— HEH'..HI'II h ||||i||”:|.-}+ H - -
-~z r |
-40 |- |
_.51}:— B
_3{;.:— h
—|||||||||||||||||||||||||||||||||
=30 =2 =10 0 10 20 a0
diff bpmdeY
‘,‘.{2 { naf 24 .65/ 36
p0 0.34 + 0.33
p1 0.01166 + 0.05887
oF Mmﬁﬁw&ﬁ” fﬂj{ |
- -
100
_15D_|||||||||||||||||||||||||||||_||||
=30 20 =10 0 10 20 a0
¥/ ndf 25.14 / 36
pO —.3803 £+ 0.5501
p1 0.07239 + 0.09870
100 | )
=200 _ _
Cr lvv e tvvvn bvvva bvv v bvran b an b
=30 =20 =10 0 10 20 a0
diff bpmdeY
¥/ naf 40.18 / 36

pO —0.07038 + 0.20443

p1 0.01228 + 0.03648

200 _— -
1] :— —'+_+-|'an-——-—-—“;-.++++
=200 u

v

-100

=2{) =10 30

2
1 1 I 1 1 1 1 I 1 1 1 1 I 1

1t postpan.png

E
E

100

=100

-150

-200

——

1
—_—_—

} 32 f ndi

{h:”ﬁ Hithvg ot pl —0.006801+ 0.008476

34.14 /36

po 01713 £ 0.2647

| T,

-150

=100 -50 1] 50 100 150

diff_bpm12X

¥/ ndi 20.53/36
pd 0.3106 £ 0.3261
p1 0.001854 £ 0.010564
o
100 ;—
50
of
_spf
-mnf— -
150

1
_ .,
_._'l' ——
=3
—|—_,_'
:_—_,é—l_
—_—

-150

=100 =50 1] 50 100 150

diff_bpm12X

12/ ndf 42 / 36
p0 —0.3325 = 0.5500
p1 0.027 £ 0.018
100 | {
uf— - HWWMWW:J
_mnf— ] } |
_:mnf— _
-MU:—..H....|....|....|....|....|....|...
=150 =100 =50 0 50 100 150

120

100

t

¥/ ndf 27.69 /36
p0 —-0.02607 + 0.20437

=3 —0.002933 £ 0.006513

—15[]

=100 =50 1] 50 100 150



asym_sam1

asym_sam3

asym_samd

asym_sam’7/

1500

1000

500

=500

=1000

=1500

=]
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

o b v b b b Pvna baaa B v g
-0 -40 20 O 200 40 60 80 100 120

diff_bpmXum
diff _

10000

5000

=5000

10000

15000

_|III|III|III|III|III|III|III|III|III
20000 -60 40 -20 O 20 40 60 BO 100 120
difi _bpm1Xum

2000 —

2000 —

4000 —

Lovvbvva b vrv brwr by bvvan bvaa b s e
60 40 =20 (1] 20 40 80 BD 100 120
diff_bpm1Xum

T — ] ——
2000 — 2000 —
1000 — 1000 —
of oF
~1000 — 1000 —
~2000 — - 2000 —
~3000 — ~3000 E—
~4000 — ~4000 E—
~5000 — ~5000 — .
:|||||III|III|III ||||||||||||||||||| :|||||||||IIIIIIII

1500

1000

500

=500

=1000

=1500

==
IIIIIIIIIIIIIIIIII|IIIIIIIIIIIIIIIIIII

cea v b b v b by aa laa g
=30 =20 10 0 10 20 30

diff_bpmda¥ium
diff

10000

5000

~5000

10000

15000

oty v by by by s Ly g liag
20000 =30 =20 =10 0 10 20 30

diff_bpmda/um

diff_bpmdaY _

4000

2000 —

=2000

-4000 —

por vl vror berrr brvra bvver P v e
=30 20 =10 1] 10 20 an

diff_bpmda¥ium
diff

oressionm-asym saml357-

run6915 000 resressionas

<
v

1500

1000

200

=500

=1000

=1500

60 -40 -20 0 20 40 60 B8O 100 120
diff_bpmdeX/um

5000

~5000

10000

15000

E_DDDU_I|III|III|III|III|III|III|III|III|III|I

-60 -40 20 0 20 40 60 80 100 120
diff_bpmdaX/um

4000

2000 —

-2000 —

~4000 —

60 -40 -20 0 20 40 60 B8O 100 120
diff_bpmdeX/um

=1000

=2000

-3000

~4000

~5000

1
O et 40 60 80 100 120

d

pm=scat

1500

1000

500

=500

= 1000

= 1500

=]
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

=30 =20 =10 1] 10 20 a0

diff_bom4eY/um
diff

10000

5000

= 5000

10000

15000

c v by by by v by g by g |
20000 =30 =20 =10 0 10 20 3o

diff_bpmday/um

diff_bpmdeY

4000

2000 —

=2000

=4000 —

30 -20 -10 0 10 20 a0
diff_bpmdaY/um

diff _bpmde

3000 _
2000
1000

0

= 1000

= 2000

=3000

=4000

=5000

=30 =20 10

ostpan.png

1500

1000

200

-500

=1000

=1500

==
IIIIIIIIIIIIIIIIII|IIIIIIIIIIIIIIIIIII

cea e by b b v b aaa by
=150 =100 =50 0 50 100 150

diff_bpm12X/um
diff

10000

S000

~5000

10000

15000

ol by by s by by by Iy
20000 =180 =100 =50 0 50 100 150

diff_bpm1 2X/um

2000 —

=2000

-4000 —

per v bvrvr v rr berra bvre s br b
180 =100 =80 (1] B0 100 180

diff_bpm12X/um
diff

3000

2000

1000

=1000

=2000

=3000

=4000

~5000

cea e by b b v b aaa by
-150 -100 =50 (1] 50 100 150
diff_bpm12X/um




reg_asym_saml

reg_asym_samJ

reg_asym_samd

reg_asym_sam?/

run6915 000

300

I 200

Y100

=100

- 200

=300

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

-60 -40 20 0 20 40 60 8O 100 120

diff_bpmXum

diff _

2000

1000

=1000

=2000

=3000

=4000

-60 -40 -20 0 20 40 60 8O0 100 120

difi _bpm1Xum

' 400

T200

=200

~400

=
IIIIIIIIIIIIIIIIIIIIIIIIIII

- 600

_BOD Lovvbvva b vrv brwr by bvvan bvaa b s e

-60 -40 -20 0 20 40 60 8O 100 120

diff_bpm1Xum

diff_bpm1X

600 —
200

-200

~400 —

-60  -40 =20 2 40 60 80 100 120

regression-reg sam

300

I 200

o100

=100

- 200

=300

=1
IIIIIIIIIIIII|IIII|IIII|IIII|IIII|II

30 <20 10 1] 10 20 a0

diff_bpmda¥ium
diff

2000

1000

=1000

=2000

=3000

=4000

30 =20 <10 1] 10 20 a0
diff_bpmda/um

600

-l

200

=200

~ 400

- 600

=1
IIIIIIIIIIIlIIIIIIIIIIIIIIIIII

800 por vl vror berrr brvra bvver P v e

30 -20 -10 O 10 20 30
diff_bpmda¥ium

300

I 200

too0

=100

- 200

=300

-60 -40 20 © 20 40 60 80 100 120

diff_bpmdeX/um
diff

2000

1000

=1000

= 2000

=3000

=4000

-60 -40 20 0 20 40 60 80 100 120
diff_bpmdaX/um

600

' 400

Y200

=200

-400

- 600

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIII

_BOD plvvabvrabvvr bvea bvra berr b bova bvaa b

60 -40 -20 0 20 40 60 B8O 100 120
diff_bpmdeX/um

diff_bpmd4eX

300

I 200

Y100

=100

- 200

=300

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

-EH} =20 =10 1] 10 20 a0

diff_bom4eY/um
diff

2000

1000

= 1000

= 2000

=3000

=4000

—.'EH} =20 =10 1] 10 20 a0
diff_bpmday/um

600

' 400

T200

=200

~400

- 600

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIII

--E-EIEI'lllllll”'l""l""l'"'l”"l

30 -20 -10 0 10 20 a0
diff_bpmdaY/um

| I |

600 — 600 — GO0 —

l | I | I |
£ 400 -
| B | B | i
1 - 1 - 1 |
200 — 200 — 200 —

o o o

- 200 - 200 ~200 -
~ 400 -4{:0— =400 —

_I|IIII|IIIIIIIII|IIII|IIII|IIII|

w1357 vs diff ‘Bpmiséat postpan.preg

300

I 200

o0

=100

- 200

-300

=1
IIIIIIIIIIIII|IIII|IIII|IIII|IIII|II

cea e by b b v b aaa by
=150 =100 =50 0 50 100 150

diff_bpm12X/um
diff

2000

1000

=1000

= 2000

=3000

=4000

ol by by s by by by Iy
=150 -100 =50 0 50 100 150
diff_bpm12Xium

g
:

3

=1
IIIIIIIIIIIlIIIIIIIIIIIIIIIIII

-l

200

=200

-400

- 600

per v bvrvr v rr berra bvre s br b
~500 180 =100 =80 (1] B0 100 180
difi_bom12X/um

600 —

-
T

200 —

200 —

400 —

b b b b bova b oo b
-150 -100 =50 (1] 50 100 150
diff_bpm12X/um




